## ERGODIC THEORY ON FUZZY QUANTUM SPACES

Amatolij Bythecheskij

Mathematical Institute of the Slovak Academy of Sciences, Obrancov mieru 49, CS-814 73 Bratislava Czechoslovakia Anna TIRPIKOVÍ

Archaeological Institute of the Slovak Academy of Sciences, CS-949 01 Nitra - hrad, Czechoslovakia

For fuzzy quantum spaces we define the basic notions of ergodic theory and we generalize the Birkhoff individual ergodic theorem, maximal ergodic theorem and the Poincaré recurrence theorems.

There exists (Riečan, B. [1]) an axiomatic model of quantum mechanics which is based on the ideas of the fuzzy set theory:

DEFINITION 1. A fuzzy quantum space is a couple  $(X_0M)_0$ , where X is a nonempty set and  $M \subset [0,1]^X$  such that the fellowing conditions are satisfied:

- (if if  $[1]_X(x) = 1$  for any  $x \in X_k$  then  $[1]_X \in H_k$
- (ii) if  $a \in H$ , then  $a^{\perp} := 1 a \in H_{\overline{a}}$
- (iii) if  $[1/2]_X(x) = 1/2$  for any  $x \in X_0$  then  $[1/2]_X \notin H_0$ 
  - (1v)  $\bigcup_{n=1}^{\infty} a_n := \sup_{n} a_n \in \mathbb{M}, \text{ for any } \{a_n\}_{n=1}^{\infty} \subset \mathbb{M}$

By  $\bigcap_{n} a_n$  we mean inf  $a_n$ .

The system M is called in the fuzzy sets theory a soft 6calgebra (Piasecki, K. [2]).

DEFINITION 2. An P-state of a fuzzy quantum space (X.M)

is a mapping m: M->[0,1] such that

- (i)  $m(a \cup (1 a)) = 1$  for every  $a \in M_3$
- (ii) if  $a_{\underline{i}} \in M$  (1 = 1, 2, ...) and  $a_{\underline{i}} \le 1 a_{\underline{j}}$  (1 \neq j) then  $m(\bigcup_{\underline{i}} a_{\underline{i}}) = \sum_{\underline{i}} m(a_{\underline{i}}).$

In the funcy set theory the mapping m is called a P-measure and M is a seft S-algebra (Piaseoki, K. [2]).

DEFINITION 4. An F-observable on a fuzzy quantum space (X,M) is a mapping  $x: B(R^1) \longrightarrow M$  satisfying the following properties:

(i) 
$$x(E^{\circ}) = 1 - x(E)$$
 for every  $E \in B(R^{1})_{\frac{1}{2}}$ 

(ii) if 
$$\{E_n^{\}}\}_{n=1}^{\infty} \subset B(\mathbb{R}^1)$$
, then  $x(\bigcup_{n=1}^{\infty} E_n) = \bigcup_{n=1}^{\infty} x(E_n)$ 

where  $B(R^1)$  is the Borel G-algebra of the real line  $R^1$ , and  $E^0$  denotes the complement of the set E in  $R^1$ .

For example, if a is a fuzzy set from M, then the mapping x defined via

$$x_{\mathbf{a}}(\mathbf{E}) = \begin{cases} \mathbf{a} \cap \mathbf{a}^{\perp} & \text{if } 0,1 \notin \mathbf{E} \\ \mathbf{a}^{\perp} & \text{if } 0 \in \mathbf{E}, 1 \notin \mathbf{E} \\ \mathbf{a} & \text{if } 0 \notin \mathbf{E}, 1 \in \mathbf{E} \end{cases}$$

$$\mathbf{a} \quad \mathbf{a} \quad \mathbf{if } 0,1 \in \mathbf{E}$$

$$\mathbf{a} \cup \mathbf{a}^{\perp} \quad \mathbf{if } 0,1 \in \mathbf{E}$$

$$(1)$$

for any  $E \in B(R^1)$  is an Foobservable of  $(X_g^n H)$  called the indicator of the fuzzy set a.

Especially, the <u>null Poobservable</u> of  $(X_0^*M)$  is a mapping  $\sigma: B(R^1) \longrightarrow M$  such that

$$\sigma(\mathbf{E}) = \begin{cases} [0]_{\mathbf{X}} & \text{if } 0 \notin \mathbf{E} \\ [1]_{\mathbf{X}} & \text{if } 0 \in \mathbf{E}, \end{cases} \quad (\mathbf{E} \in \mathbf{B}(\mathbf{R}^1)) \quad (2)$$

If  $f: \mathbb{R}^1 \longrightarrow \mathbb{R}^1$  is a Borel measurable function, then fox:  $E \longrightarrow x(f^{-1}(E))$ ,  $E \in B(\mathbb{R}^1)$  is an F-observable of  $(X_pM)$ , For example, if  $f(t) = t^2$ ,  $t \in \mathbb{R}^1$ , then by  $x^2$  we mean fox, etc.

Since (Dvurečenskij, A., Tirpáková, A. [3]) there is an one-to-one correspodence between an F-observable x and the system  $\{B_x(t): x((-\infty,t)): t \in R^1\}$ , in the papers [3,4],

the sum of any pair x and y of F-observables of (X;H) has been introduced:

DEFINITION 3. By the sum of any pair of two F-observables x and y we mean a unique F-observable x + y for which we have

$$B_{x+y}(t) = \bigcup_{r \in Q} (B_x(r) \cap B_y(t-r)), t \in \mathbb{R}^1$$
 (3)

In (Dvurečenskij, A., Tirpáková, A.[3,4]), there has been proved that x+y exists always, and it coincides with poitwisely defined sum of observables for 5-algebra of crisp subsets. Mereover, (i) x + y = y + x, (ii) (x + y) + z = x + (y + z). The difference of x and y is defined as x - y = x + (-y), where  $(-y)(E) = y(\{t: -t \in E\})$ ,  $E \in B(R^1)$ .

If x is an F-observable and m is an F-state, then the mean value of x in m we shall understand the expression

$$\mathbf{m}(\mathbf{x}) = \int_{\mathbf{R}^1} \mathbf{t} \ d\mathbf{m}_{\mathbf{x}}(\mathbf{t}) = \int \mathbf{x} \ d\mathbf{m}, \tag{4}$$

if the integral exists and is finite, where  $m_{\chi}$  is a probability measure on  $B(R^1)$  defined via  $m_{\chi}(E) = m(x(E))$ ,  $E \in B(R^1)$ .

DEFINITION 4. We say, that a sequence  $\{x_n\}_{n=1}^{00}$  of F-observables of a fuzzy quantum space  $(X_n)$  operates to an F-observable x almost everywhere in an F-state m (in short  $x_n \to x$  a.e. [m]), if for every  $\xi > 0$ ,

$$\mathbf{z}(\mathbf{U} \cap ((\mathbf{z}_n - \mathbf{z})([-\mathcal{E}_{\mathbf{z}}^*\mathcal{E}])) = 1.$$

A mapping T: M-M such that

(i) 
$$\Gamma(a^{\perp}) = \Gamma(a)^{\perp}$$
,  $a \in \mathbb{N}_{\delta}$ 

(ii) 
$$\mathbb{C}(\bigcup_{i=1}^{\infty} \mathbf{a}_i) = \bigcup_{i=1}^{\infty} \mathbb{C}(\mathbf{a}_i), \{\mathbf{a}_i\}_{i=1}^{\infty} \in \mathbb{M}$$

is called a <u>homomorphism</u> of (X,M). We say, that a homomorphism h of (X,M) is <u>investigat</u> in an F-state if

$$m(T(a)) = m(a)$$
, as M.

A homomorphosm h of (X,N) invariant in an F-state m is said to be erredic in m if the statement  $m(a \wedge T(a^{\perp})) = 0 =$ =  $m(\Gamma(a) \wedge a^{\perp})$  implies  $m(a) \in \{0, 1\}$ . If  $\Gamma$  is a homomorphism and x is an F-observable, then  $\mathbb{C}_{x}$ :  $E \longrightarrow (x(E)) \subseteq E \in B(\mathbb{R}^1)$ ; is an F-observable of (X.M).

## ERGODIC THEOREMS

The calculus for observables that has been outlined in (Dvarečenskij, A., Tirpáková, A. [4]) enables us to formulate and preve the main ergodic theorems.

THEOREM 1. (Rirkheff's individual ergodic theorem). Let x be an F-observable of  $(X_2^nM)$  and let C be a homomorphism of (X,M) ergodic in an F-state m. Suppose m(X) = 0. Then

$$\frac{1}{n}\sum_{i=1}^{n-1} \mathcal{I}_{\circ}^{i} x \longrightarrow \sigma \quad a. \bullet. [M]. \tag{5}$$

PROOF. Let us define  $I_m = \{a \in M: m(a) = 0\}$  then a relation " $\sim$ " defined via a $\sim$ b iff m(a $\wedge$ b<sup>1</sup>) = 0 = m(a<sup>1</sup> $\wedge$ b) is the congruence, and moreover,  $M/I_m = \{\bar{a} = \{b \in M: b \sim a\}: a \in M\}$ is the Boolean 6-algebra (in the sense of Sikorski [5]), where the complementation "  $\stackrel{a}{=}$  in M/I<sub>m</sub> is defined via  $\vec{a}' = \vec{a}'$  a  $\in$  M and  $\bigvee_{i} \vec{a}_{i} = \bigcup_{i} \vec{a}_{i} \in$  M. The mapping h: M  $\longrightarrow$  M/I<sub>m</sub> de-

fined via  $h(a) = \overline{a}$ ,  $a \in H$  is a homomorphism from M onto  $H/I_{m}$ . The mapping  $\mu: M/I \longrightarrow [0,1]$  for which  $\mu(\bar{a}) = m(a)$ ,  $a \in M$ , is a probability measure on M/I ...

Define a mapping  $\overline{\mathbf{c}}: M/I_{m} \to M/I_{m}$  as follows

$$\vec{\tau}(\vec{a}) = Ca, a \in M.$$
 (6)

Then due to the invariancy of T in m. T is a well-defined homomorphism of  $M/I_{m}$ ; that is

 $(1) \nabla (0) = 0$ 

(ii) 
$$\tilde{\tau}(\tilde{\mathbf{a}}^{\bullet}) = (\tilde{\tau}(\tilde{\mathbf{a}}))^{\bullet}, a \in \mathbb{N}_{i}$$
  
(iii)  $\tilde{\tau}(\bigvee \tilde{\mathbf{a}}_{\underline{i}}) = \bigvee \tilde{\tau}(\tilde{\mathbf{a}}_{\underline{i}}), \{a_{\underline{i}}\} \in \mathbb{N}_{\bullet}$   
 $i=1$ 

Moreover,  $\overline{t}$  is invariant in  $\mathcal{M}_s$  i.e.,  $\mathcal{N}(\overline{t}(\overline{a})) = \mathcal{N}(\overline{a})$ ,  $a \in M$ .

Let x be an F-observable of (X,M). Then  $y:=h_0x$  is an observable of  $M/I_m$ . We recall that it means that

$$(1) y(\emptyset) = 5$$

(ii) 
$$y(E^0) = y(E)^{a}_{i} E \in B(R^1)_{i}$$

(iii) 
$$y(\bigcup_{i=1}^{\infty} E_i) = \bigvee_{i=1}^{\infty} y(E_i), \{E_i\} \subset B(\mathbb{R}^1).$$

In the following we need the next lemma.

LEMMA 1. If  $\mathbb{C}$  is invariant in m, then for any n=0, 1, ..., we have

(i) 
$$\bar{\tau}^n$$
,  $y = h \cdot C^n$ ,  $x$ . (7)

(ii) Let A be the minimal Boolean sub-6-algebra of M/I<sub>m</sub> containing all ranges of T , y, n = 1, 2, ... Then  $Ta \in A$  for any  $\overline{a} \in A$ .

PROOF. (i) It is evident. (ii) Denote by  $A_0 = \{ \tilde{a} \in A : \tilde{c} \in A \}$ . Then  $\tilde{b}, \tilde{l} \in A_0$  and  $A_0$  is a Boolean sub- $\tilde{b}$ -algebra of  $M/I_M$  containing all ranges of  $\tilde{c}$  ,  $\tilde{v}$ ,  $n \ge 0$ . Hence  $A_0 = A$ .

Q.E.D.

Continuation of the proof of Theorem 1. It is evident that the Boolean sub-G-algebra A in Lemma 1 has a countable generator. Due to (Varadarajan, V. S. [6], Theorem 1.4), there is an observable  $z: B(R^1) \longrightarrow M/I_m$  such that

$$\{z(E): E \in B(R^1)\} = A_2$$

and, moreover, there is a sequence of real-valued Borel functions  $\{f_n\}_{n=1}^{60}$  such that

$$(\tilde{\tau}_{n}^{n}y)(E) = z(f_{n}^{-1}(E)) \in E \in B(R^{1}), n = 0, 1, ..., (8)$$
and  $f_{n}$  is essentially unique in the sense that if
$$z(f_{n}^{-1}(E)) = z(g_{n}^{-1}(E)), E \in B(R^{1}), \text{ then } z(\{t: f_{n}(t) \neq g_{n}(t)\}) = 0.$$

From the construction of z it follows that  $\mathbb{C}$  is z-measurable, that is,  $\mathbb{C}(z(B(R^1))) \leq z(B(R^1))$ . Due to (Dvurečenskij, A., Riečan, B. [7]), it is possible iff there is a Boarel measurable transformation  $T: \mathbb{R}^1 \longrightarrow \mathbb{R}^1$  such that

$$\overline{\mathbb{C}}(\mathbf{z}(\mathbf{E})) = \mathbf{z}(\mathbf{T}^{-1}(\mathbf{E})), \ \mathbf{E} \in \mathbf{B}(\mathbf{R}^1). \tag{9}$$

Therefore,

$$\overline{T}^{n}(\mathbf{z}(\mathbf{E})) = \mathbf{z}(\overline{T}^{-n}(\mathbf{E}))_{s}^{n} \mathbf{E} \in \mathbf{B}(\mathbb{R}^{1})_{s}^{n} \tag{10}$$

and

$$\tilde{\mathbb{T}}_{0}^{n} y(E) = \tilde{\mathbb{T}}^{n} (z(f^{-1}(E)) = z(f^{-n}(f^{-1}(E))) = z((f_{0}^{-1}(E))^{-1}(E)) = z(f^{-1}_{n}(E)).$$

Due to (Varadasajan, V. S. [6], Theorem 1.4), we may assume without loss of generality that  $f_n = f_0 T^n$ , n = 0, 1, ..., for some Borel function  $f_0$ 

For observables in  $M/I_{\underline{m}}$  there is a well-known (Varadara-jan, V. S. [6]) way of definition of their sum, and the convergence almost everywhere of observables in  $M/I_{\underline{m}}$  is same as for F-observables. Therefore,

$$\frac{1}{n}\sum_{i=1}^{n-1}\mathbb{T}^n \times \rightarrow \mathscr{O}[m] \quad \text{iff} \quad \frac{1}{n}\sum_{i=1}^{n-1}\mathbb{T}^n \times \rightarrow \mathscr{O} \quad \text{a.e.} [n],$$

where  $\mathscr{C}(E) = \emptyset$  if  $0 \notin E$  and  $\mathscr{C}(E) = \emptyset$  otherwise. The latest convergence is true iff

$$\frac{1}{n}\sum_{i=1}^{n-1}f(T^i),z\longrightarrow 0 \text{ a.e. } [\mu], \text{ which is possible iff}$$

$$\frac{1}{n}\sum_{i=1}^{n-1}f(T^{i}(t))\rightarrow 0 \quad \text{a.e.}[\mathcal{M}], \text{ where } \mathcal{M}(E)=\mathcal{M}(z(E)).$$

 $E \in B(R^1)$ , is a probability measure on  $B(R^1)$ .

On the other hand,

$$m(x) = \int_{\mathbb{R}^1} t \ dm_x(t) = \int_{\mathbb{R}^1} t \ d\mu_y(t) = \int_{\mathbb{R}^1} f(t) \ d\mu_z(t) = 0,$$
where  $\mu_y(E) = \mu(y(E))$ ,  $E \in B(\mathbb{R}^1)$ .

Take into account a dynamic system  $(R^1, B(R^1), \mathcal{M}_{\Sigma}, T)$ . Then T is  $\mathcal{M}_{\Sigma}$ -invariant and ergodic in  $\mathcal{M}_{\Sigma}$ , i. e., (i)  $\mathcal{M}_{\Sigma}(T^{-1}(E)) = \mathcal{M}_{\Sigma}(E)$ ,  $E \in B(R^1)$ , (ii)  $T^{-1}(E) = E$  implies  $\mathcal{M}_{\Sigma}(E) \in \{0, 1\}$ .

Therefore, due to (Halmes, P. R. [8]), for f the individual ergodic theorem holds, consequently (5) is proved.

Q.E.D.

REMARK. The individual ergodic theorem for fuzzy quantum

spaces has been proved in (Harman, B., Riečan, B. [9]) but only under the restriction  $\mathcal{L}(x(B(R^1))) \leq x(B(R^1))$ . Theorem 1 presents the most general case.

The product of two observables x and y is defined as fo-11ows

$$x_0y = ((x + y)^2 - x^2 - y^2)/2.$$
 (11)

Hence, if a is a fuzzy set from No then an indefinite integrel of x is the expression

$$\int_{\mathbf{a}} \mathbf{x} \, d\mathbf{m} : = \int \mathbf{x}_{\bullet} \mathbf{x}_{\mathbf{a}} \, d\mathbf{m}_{\bullet} \tag{12}$$

THEOREM 2. (Maximal ergodic theorem). Let T be a homomorphism of a fuzzy quantum space (X2M) invariant in an Fstate m. Let x be an F-observable of (X,M) which has a finite mean value in m. Let

$$S_{k} = \sum_{i=1}^{n-1} \mathbb{C}_{0}^{i} x_{s} \quad k = 1, \dots, n, \quad a = \bigcup_{i=1}^{n} S_{i}((0, \infty)). \quad \text{Then}$$

$$\int_{a} x \, dm \ge 0. \quad (13)$$

PROOF. Let h be a mapping from the proof of Theorem 1. Then  $h_0(x + y) = h_0x + h_0y$ ,  $h(f_0x) = f_0h(x)$ ,  $h_0(x,y) =$ hax, hay. Therefore, if x is a question observable of M/Im, that is,  $x_{\bar{a}}(\{0\}) = \bar{a}^a$ ,  $x_{\bar{a}}(\{1\}) = \bar{a}^a$ , then we have (see the proof of Theorem 1)  $\bar{a} = h(a) = \bigvee_{i=1}^n h(S_i(\{0\}, \infty))) = \bigvee_{i=1}^n z(s^{-1}(a))$  $(0,\infty))) = z(\bigcup_{j=1}^{n} s^{-1}((0,\infty))) = z(\max(0,s_1,\ldots,s_n)>0),$ 

where

$$s_{k}(t) = \sum_{i=1}^{k-1} f(T^{i}(t)), t \in \mathbb{R}^{1}.$$

$$\int_{\mathbf{a}} \mathbf{x} \ d\mathbf{m} = \int \mathbf{x}_{\bullet} \mathbf{x}_{\mathbf{a}} \ d\mathbf{m} = \int \mathbf{h}_{\bullet} \mathbf{x}_{\bullet} \mathbf{h}_{\bullet} \mathbf{x}_{\mathbf{a}} \ d\mathbf{m} = \int \mathbf{h}_{\bullet} (\mathbf{x}_{\bullet} \mathbf{x}_{\mathbf{a}}) \ d\mathbf{m} =$$

$$= \int_{\mathbf{a}} \mathbf{h}_{\bullet} \mathbf{x} \ d\mathbf{m} = \int_{\mathbf{A}} \mathbf{f}(\mathbf{t}) \ d\mathbf{m}_{\mathbf{Z}}(\mathbf{t}), \text{ where } \mathbf{A} = \left\{ \mathbf{t} \in \mathbb{R}^{1} : \max(0, s_{1}) \right\}.$$

...,  $s_n > 0$ . Applying maximal ergodic theorem for the dynamic system  $(R^1, B(R^1), T, \mu_z)$ , we see that  $\int_A f(t) d\mu_z(t) > 0$ . Q.E.D.

Finally we prove the Poincaré recurrence theorems. We recall that for any two fuzzy sets  $a,b \in M$  we define  $a - b = a \cap b^{\perp}$ . The fuzzy sets  $a,b \in M$  are orthogonal, and we write  $a \perp b$ , if  $a \leq b^{\perp}$ .

THEOREM 3. (Recurrence theorem). Let  $\mathcal{C}$  be a homomorphism of a fuzzy quantum space (X,M) and let  $\mathcal{C}$  be invariant in an F-state. Then for all  $a \in M$  we have

$$\mathbf{m}(\mathbf{a} - \bigcup_{j=1}^{\infty} \mathcal{Q}^{j}\mathbf{a}) = 0.$$

PROOF. Let b = a =  $\bigcup_{j=1}^{\infty} \mathbb{C}^{j}a$ , then  $\{\mathbb{C}^{j}b\}_{j=1}^{\infty}$  are orthogonal elements of M therefore  $\mathbf{m}(\bigcup_{j=1}^{\infty} \mathbb{C}^{j}b) = \bigcup_{j=1}^{\infty} \mathbf{m}(\mathbb{C}^{j}b) = \bigcup_{j=1}^{\infty} \mathbf{m}(b) < 1$ . Hence  $\mathbf{m}(b) = 0$ .

Q.E.D.

For 
$$\{a_n\} \subset M$$
 we define  $\limsup_{n \to \infty} a_n = \bigcap_{n=1}^{\infty} \bigcup_{j=n}^{\infty} a_j$ .

THEOREM 4. (Strong recurrence theorem). Let  $(X_0M)$  be a fuzzy quantum space and C be a homomorphism invariant in an F-state m. Then for all  $a \in M$  we have

$$m(a - \lim \sup C^{j}a) = 0.$$

PROOF. Let  $b = a = \lim \sup_{n = 1}^{\infty} \mathbb{C}^{j}a$ , then  $b = a \wedge \bigcup_{n = 1}^{\infty} \mathbb{C}^{j}a) = \bigcup_{n = 1}^{\infty} \mathbb{C}^{j}a$  where  $\mathbb{C}^{j}a = \mathbb{C}^{j}a = \mathbb{C}^{j}a$  and  $\mathbb{C}^{j}a = \mathbb{C}^{j}a$  we get for  $\mathbb{C}^{j}a = \mathbb{C}^{j}a$ ,  $\mathbb{C}^{j}a = \mathbb{C}^{j}a$ ,

## REFERENCES

- [1] RIBCAN, B.: A new approach to some notions of statistical quantum mechanics. Buseful, No 35, 1988, 4 - 6.
- [2] PIASECHI, K.: Probability of fuzzy events defined as demonstrable additivity measure. Fuzzy Sets and Systems 17, 1985, 271 284.
- [3] DVURBČENSKIJ, A., TIRPĀKOVĀ, A.: A note on a sum of observables in F-quantum spaces and its properties. Busefal, No 35, 1988, 132 137.
- [4] DVURBURSKIJ, A., TIRPÍKOVÍ, A.: Sum of observables in fummy quantum spaces and convergence theorems.

  Sent for publication.
- [5] SIKORSEE, R.: Boolean Algebras. 3rd ed., The Springer-Verlag, New York Inc. 1969.
- [6] VARABARAJAN, V. S.: Geometry of Quantum Theory, Van Nostrand, 1968.
- [7] DVURBURELJ, A., RIBCAH, B.: On joint observable for F-quantum spaces. Buseful, 1988, 10 14.
- [8] HALMOS, P. R.: Lectures on Ergodic Theory. New York, 1956.
- [9] HARMAN, B., RIBCAN, B.: On the individual engodic theorem in P-quantum spaces. Proc. XI. Nath. Session, Posnan.